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No.1 ZF 4x50m A FL—1) L— R AL L—R R
I KRIEpGEER 2/ 4 2:06.01
31.10 1:08.60 1:38.29
1 AARE R &2 (0.55) 31.10
2 IEH Hikk 3 (+0.35) 37. 50
3 FE =HY &3 (+0.33) 29. 69
4 FEW A& =2 (+0.43) 27.72
2 ERER 2/ 5 2:08.12
32.31 1:08.26 1:39.49
1 B B% &3 (0.61) 32. 31
2 B Hb E2  (+0.60) 35.95
3 KE R =3 (+0. 38) 31.23
4 W o= &2 (+0.28) 28. 63
33.27 1:09.37 1:42.27
1 #E & f12  (0.65) 33.27
2 R WHE H2 (+0.47) 36. 10
3 HMH O HiE 2 (+0.67) 32.90
4 At E R &3 (+0.30) 29. 24
4 BB FSC A 2/ 6 2:23.10
35.62 1:14.52 1:48.94
1 WEE B 1 ( 0.90) 35. 62
2 IV E H12 (+0. 62) 38.90
3 ®UW FER &2 (+0.70) 34. 42
4 W A H12 (+0. 48) 34.16
5 I RLE 2/ 2 2:23.70
39.66 1:20.40 1:53.41
1 ®  Fm =3 (0.61) 39. 66
2 EH Mt =3 (+0. 38) 40. 74
3 MFRRE Bl (+0.64) 33.01
4wl Mk &3 (+0.18) 30. 29
6 %y5Hth 1/ 5 2:32.53
40.47 1:24.10 2:02.42
1 =B A f3  (0.71) 40. 47
2 kB H12  (+0. 65) 43. 63
3 AR 2 (+0. 54) 38.32
4 S5l MERE H13 (+0. 24) 30. 11
T o wEg 1/ 4 2:36.49
41.84 1:26.41 2:01.88
1 KEF H0EA /N5 (0.57) 41. 84
2 HH FLY /N5 (+0. 49) 44, 57
3 {EIE Ik /NB (+0. 22) 35. 47
4 RRE B /N (+0. 26) 34. 61
8 #BI-ScC B 1/ 3 2:38.20 =T
44,06 1:25.21 2:02.54
1 HA A6 (0.79) 44. 06
2 HZE LY =2 (+0. 63) 41.15
3 BR AE H1 (+0.63) 37.33
4 Ay Fntt /N6 (+0. 25) 35. 66
9 WEI=S 1/ 2 2:39.78
39.01 1:28.46 2:05.34
1 #il Ei &3 (0.64) 39. 01
2 KB 7 =2 (+0.06) 49. 45
3 FEE K &3 (+0.08) 36. 88
4 W R &2 (+0.19) 34. 44
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10 gt 1/ 6 2:59.64
50.64 1:37.80 2:12.01
1 B EE =3 (0.8D) 50. 64
2 UTiE R =3 (+0.85) 47.16
3 g B &2 (+0.55) 34. 21
4 R ik &3 (+0.60) 47.63
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